Honors PreCalculus Summer Assignment

Name 4/\54)516 KeY Date

Show all work! Exact answers only unless the problem asks for an approximation.

These are important topics from previous courses that you must be comfortable doing
before you can be successful in Honors PreCalculus.

If you find that you need some assistance, please feel free to Google or YouTube the
concepts. Within the directions of each problem, you will see key words that you should be
using in your research. | also recommend that you use the Desmos app for your phone or
desmos.com on your computers to analyze the graph of functions if you do not have a
graphing calculator.

1) Solve the linear equation.

3x +4)—2(3x—1)=4x Tr.=-Hf ~
S HIR =L+ & =‘/ K=
-3ty =
2) Solve the linear equation.
12(4+ x) = 6(2x +8) A ReAS
HE+1ay = IR +H8 K
= O

3) Solve the equation.

4) Solve the equation.
2x+5 x-2 -y
—4 3 Z=""o
b t1S = -1+
oy = ="

5) Solve the inequality & graph the solution set.

23-x)>8 _ M >
6-Ax 289 ==y -/
“Ax2

6) Solve the inequality & graph the solution set.

3x—7 <6x + 20 — G+

-3 <I] -9
xr>-9

7) Solve the inequality & graph the solution set.

4<-3x+1<19 e—F——

232 -3e<18 ~6Lx<~/ -4, ~/
-2 x >-6
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8) Solve the absolute value equation.

Ix—4{+2=20 E-1=¢ K‘f=-é
3[y-4[ =18 %.=(o K=-2
[¥-4]=¢

9) Solve the absolute value inequality & graph the solution set.
h+ﬂ£9

CLoseh, msIBE. - 6
X+3=% g+3=-9
x=¢ 2 =-la

10) Solve the absolute value inequality & graph the solution set.

‘2x—1|i31 T 4+

OPEN, QUTSIBE =[5 6
A=l =3( ‘2"’/“33;{
=3 X ==
e g=-i5
11) Graph the linear functions. m— ro— =
y=4and x=-2 < - >

12) Graph the linear function.
6x+2y=28

Za"é‘)ﬁ"‘?

§ee

13) Graph the linear function.
3x-6y=12

-éV ==3x+ 1
1 *r-X
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14) Write the equation in slope-intercept form and standard form for the line that is graphed.

e B ?
Slope-intercept form;%" S /

|
-

Standard form O?Z.‘ St{ =-5

=3 ('?s'gt + =">

15) Write the equation in slope-intercept form and standard form for the line that is graphed.

3=-3+2 tb -
o Slope-intercept form ‘f’ ="x X +&

3=-s+b |

g = b Standard form Sk, +a?uy =i =1 i +

OL.

!

&(gz +6i=g)

16) Find the slope-intercept equation for a) line \(Nith tht; given properties.
Containing the points (4,—4 & (—6,21 = —
FEI aosoudir 276 YetFnts
-7 "% Y=-S54+b
~¥=-lo+},

17) Find the slope-intercept equation for a line with the given properties.
Parallel to y = —2x+ 7 & containing the point (— 7,6)

6=oTtb 4 o
=1+ b=-¢ ‘6“ K-8

18) Find the slope-intercept equation for a line with the given properties.
Perpendicular to y = 4x & containing the point (— 8,9)

AR ey Y-l

=X+b
19) Find the zero of the linear function.
f(x)=5x+14 Sk =~/ 1y
0=5L+I‘/ %:—/5 :_Xo(? E)O)

20) A taxi company charges $3.20 plus $1.15 per mile. Write a linear function that relates the
cost C, in dollars, of riding the taxi for x miles. What is the cost of riding the taxi if the

ride is 23 miles?

C=hi5x+3,20 C(ﬁj = fj‘o?‘(’. 65

21) Simplify using properties of exponents.

(4xy7X—3x5y2) - _/&/74—6 g
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22) Simplify using properties of exponents.
3.7 <
Bx"y' _ 3%
12xy|0 & ?3

23) Simplify using properties of exponents.

32y = 3/7420161 =

24) Simplify using properties of exponents.

(o7 fEaxy?) = 4 733"/‘ -3 ;ga___ “4577:5‘ )

25) Simplify using properties of exponents.s ¢ ’
3 - {
& R 22T _-RZE
-1,10_-6 3, .o 7
12x 'y "z /a—{x_pd ,_d 31.1#17

26) Rewrite the expression using rational exponent notation.

Q/x_4= 74_%= k_%

27) Rewrite the expression using radical notation.

S o

28) Evaluate the expression without using a calculator.
5 s oty ok
34 gl

29) Evaluate the expression without using a calculator.

64§ = (VATY: ’-[Q =16

30) Evaluate the expression without using a calculator.

3 / /
2 TSe—m—3 = i
AN
31) Multiply the polynomials. S q 3
(4x3 ~7x—816x2 +5x—9) Zl/y‘ toy. —_;,zé;:‘” 55120 L35
_ -BE-Yox +IR

My >+ 20y - 78 - 831 +a3x +72,
32) Factor the polynomial.

12x* +16xy —4x* = ‘/)L (374.‘“/'}1," sz “ ‘ﬁ/ki‘g%_‘/ﬁtj

33) Factor the polynomial.
2x% —5x-12 = élb 1S 3)(15 _ 1{)
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34) Factor the polynomial.
3x% —37x+12

]

Ge - 1 - 12)
35) Factor the polynomial.

4x* +20x+25 = (2;41"5 )(07,(_1-55 = (gm.fsj

36) Factor the polynomial.

3} —12x = 3%(’)(‘}- ‘/J = 3y (7(_-;9(24-;{)

37) Factor the polynomial.

=175 & {x—sJ[}é_'z+53¢+25)
J/H“e(g;dcz oF CJBESS (a—b)(qa-!- Clb'*‘bz)

38) Factor the polynomial. 2
8x> +27 =(Z)¢+3)é’7- -63¢+‘7J

SUM oF CJBES [a-l—[::)(aa—qb*b‘j

39) Factor the polynomial. 2
253 —x? —18x+9 = KR(ZK‘,J"T (’7)6"’J= (zlﬁ"")(k’ —q)

= (a-1) (x~3) (x3)
40) Factor the polynomial.

12)° +8y2 —21y-14 = 7’;“{33.,;)_7(3?41@ = (1{6,'17)(3;_*2)

41) Factor the polynomial.

2z + 22 45 = (£2+ 5 )(ZZ_R—QJ

42) Graph the quadratic function.

2
y=x - 4x+3 = "__, i
Identify the following: ( )('Z' < )

Direction of Opening UP B
Y-intercept (0g3l u '
=34 Aisof symmetry_X=2 EEEREED

Vertex ( 2 ,"’ ! =il ,

x-ntercept(s)_(1,0) (3,0) INFENEEN

o
%
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43) Graph the quadratic function.
y=-3x*—6x-1
Identify the following:

Direction of Opening_ CWA AOIJI\J
Y-intercept ( O,/ I
}(fi’% Axis of Symmetry_ K==/
Vertex ( = [ : a’L)
y= g 0_(2 #AC . intercept(s) (=/8%,0 > (0. 18 0)

-
S

N

Ax 1 E

44) Solve the quadratic equation. - \=1¢ N
P=2x-5 A= 2 ""‘i—‘i—g L =—[+7¢
L4 -
x 4+Ae+S =0
45) Solve the quadratic equation.
3x2 —20x-32=0 /Z-'——:g{' r=¥

Get (- 8)=O

46) Solve the quadratic equation.

(x-5)° =18 /255‘_"3\/5
-6 =1Tyig

47) Solve the radical equation.
5Vx+6-1=39 Vte =

%
5hte =40 x+6 =¢ K =58

48) Solve the system of equations by graphing. — R

49) Solve the system of equations.
y=oE-] Xy - (Se-1)= =X
{2x—y=—2 - (k‘ J
oZy,‘SK'l":‘R </ L{J
...3% = =R J

e[ o=
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50) Solve the system of equatsons

4x +3y=-2 —> &+63__7/ }L:—S -.Za+3,0/
{3x+2y=—3-——) qy_-}{_q

-
-

-

=
-
-

0N & o,

51) Simplify the radical.

%8 = \etka = g/a

52) Multiply the radicals and simplify.

V200445 = 2 /57« 3//S = 6°5 =30

53) Multiply the radicals and simplify.

3VBe2V6 = Lo VT VT VE = 2:7/3 =[5

54) Add the radicals.

WB+sVI8-V08 = 6y HSYR =R = M2

42 92 ‘ﬂi

55) Rationalize.

L ab

56) Rationalize.

sv7 V2 _ SYH
2 V2 X

57) Evaluate the function notation.

h(x)=4x* —3x+11 Find h(-3)=
36 +9 +11 56

58) Evaluate the function notation.

)= x2x_-31317 % Find ()= &,

59) Find the value of x in the function notation equation.

g(x)=—§x+4 Find x so that g(x)=10

/0="3é1c+’/~——> 6=-351 _>Z=é°—$§:—/0

60) Find the value of c.
fE3)=-11& f(x)=2x" +x* - Tx+c

I =3(3)#(3)-7L3)+C
~I(=8Y+9+2/+C
=[] = A
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61) Use the graph of g(x) to answer the following questlons '

B) Find g(4) =

C) Find g(8)

=X

D) Find x so that g(x)=5

—
- -

E) Find x so that g(x)=4
¥="7,-%,-3
F) Find x so that g(x)—l

k=45,1,-8

62) Find the distance between the points & the midpoint of the line segment joining the points.

(2,-5) & (- 6,-9)
- Voo =is
( -2,-7)

NCT
45

Distance Midpoint
63) Find the domain of the function. 2
i -=ts, ol YFLS
-9 (xr3)t3) -
64) Find the domain of the function.
glx)=x-5 B2
65) Find the domain of the function.
-3x
hlx)= -
( ) Nx+2 k > CQ/

66) Divide the polynomlals
(3x —18x% +25x - 6) (x—4)

3 ex +/

-18 E
d 13 12 f;/ j’ Remmbek ==&
3 -6 | -]

67) Divide the polynomials.

(x4+x3—5x2—15x—18)+(x +2x+3) Lz ‘k é

2 Y4203 )U;az 5,4 IS -18
v-%K-6 ALTEs T
KemAnbeR =O ~¥ - B-IS%
-4 32y -3y
—éy =12y ~18
Honars PreCalculus Summer Assignment (OTHS) - é)(.‘l— [ - IS’

[JIM.EMS

O



68) Perform the indicated operation and Slmpllfy

S_FTr 254_+-7g, ZSﬁny?
Xty 5y° S;Ua Sua 5“)5-":{!
69) Perform the ;mdicat_eg :})peraticin and ;@ngﬂ . ‘ﬂ- G " (4—«1 )
s T G ) GG
70) Solve the quatlon
121, 5+6_v —)—)g-l-lo =4 lat:&/

f9=4?

71) Solve the equation. P
64«1)(11-3) . 3 x—-1_ 7 ) — 5+ ]4-1"'334-3:7)5"'"/
x“+5x+6 x+2 x+3 Q a .
(e+a)(x+s) L-SK—/'/—O ¥="] K=-x
-7 Nz ) =& Skl
72) Find the sum of the series. A
0 21+25+29+33+...;n=26 S‘,‘,;-' %‘é?%?l'!‘ "fé?é")) = /g‘{é
Su: 2 é.a '-rJ ( n- l» ARi 13{#1‘(5.77&
A=
4 ( 733 Find the sum of the series. 2 /' 3:3 )
fe 2+6+18+54+...;n=13 = - =
CeoMETKIC I3 -3 45 T %32&
rs=2
a 74) Find the sum of the series. 20490 -ﬁ/
' 20480+5120+1280+320+... KO0 |
i: l-r N T QeoMETRIC Soa [="% XIZ'SOQ >
r=Y  conufess
75) Find the sum of the series.
6+12+24+48+.
WNENITE GEARETRIC No suM
r=2
76) Find the sum of the series. 29 a, =q, +d (,‘_.,)
_n 29+22+15+8+...+(-160 = ( + “|éD s = K
SR (4' +q“3 M;#’E_n; (-160) 528 T/;; 1{ ) .’z‘;"ﬁ -%7 (n-1)
o= - s =n
77) Find the sum of the series. a.=a .r_l"
a,-a_ er 3 - -1
= = 12288 + (- 6144) + 3072 + (- 1536) +.. +( ) A
WS o1 e -3 < (2288 (%)
- . H (- ( . ) n=
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78) Find the value of ¢ that makes the expression a perfect square trinomial then write the
expressmn as the square of a binomial. C’— LH /

¥ —Tx+c

Cn (3= e+ = (%) %)= (x- A

79) Write the equation in standard form and classify the conic section. Identify the important

characteristics of the graph. ELL1PsE
X2 +16y% +10x - 64y +25=0 MR Avss = (4, (Hafrawra
( %2+1034 3 (lé %’4 44'6!_ ) "5 MmleRAx!s = 45’&?’7‘%} -

(Kt 1o 425 )+ 16 (:3" qy + )=-25+25+6{ C’j;’fig's L)
(x+s)+ e ‘6"2) o “5) () =/ CQ‘U(‘SO
! 132)(3,2)

80) Write the equation in standard form and classify the conic section. Identify the important
characteristics of the graph.

x*+y* +4x-6y-87=0

Oé*&) + (7 -3) = (0O CIRCLE.
CenlTEX (—2 3)
dws =[O
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